) 4"'(+) 3«8 SPECIFICATION SHEETS

FG1- SYSTEM 1
FRAMELESS GLASS
BALUSTRADE




BG5200
42MM ROUND FLAT END CAP
316 POLISHED STAINLESS STEEL

Ny o

0 N—

Min. 1000mm

970 Glass Height

END ELEVATION

BG5000
42MM ROUND TOP RAIL

316 POLISHED STAINLESS STEEL ‘\

* BALUSTRADE
MAXIMUM SPAN < 1600MM

2205 STAINLESS STEEL
SPIGOT + COVER PLATE

FRONT ELEVATION

MAX 125MM

BG5150
3 HOLE FEMALE WALL BRACKET

316 POLISHED STAINLESS STEEL \

12MM HEAT SOAKED
TOUGHENED SAFETY GLASS
970MM HIGH
FULLY AS/NZ-2208 CERTIFIED

!

OXWORKS

STANDARDS

o AS2208 - Heat Soaked & Toughened Glass

» AS1288 (2006)
Glass Building Selection & Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

ALl 2205 Stainless Steel

FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

o Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout

¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel
Coach Screw into structural timber

FLANGED
SPIGOT DETAIL

FR3500/FR3600
FR3550/FR3650 / CORE DRILLED
FLANGED FIXING DETAILS
DETAILS REFER TO NOTES
REFER TO NOTES

CORE DRILL SPIGOT DETAIL

BG5100

BG5200
42MM ROUND FLAT END CAP
316 POLISHED STAINLESS STEEL

GLAZING CHANNEL TO SUIT
42MM ROUND TOP RAIL

REFERTO NOTES \ﬁ

TOP RAIL
END DETAIL

OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

¢ BG5000/BG5050 - 42.4mm Round
Stainless Steel Top Rail

¢ BG5100 - Glazing Rubber Channel

¢ BG5150 - 3 Hole Female Wall Brackets
25mm RND

¢ BG5200 - 42.4mm Flat End Cap

¢ BG5300 - 42.4mm 90° Angle Joiner

¢ BG5350 - 42.4mm Downward Adj Joiner
¢ BG5400 - 42.4mm Upward Adj Joiner

TIMLE: FRAMELESS GLASS BALUSTRADE
FG 1-SYSTEM 1
TYPICAL CONFIGURATIONS

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




FR3151 FR3252

BALUSTRADE BASE PLATED SPIGOT - ROUND CODE DESCRIPTION BALUSTRADE CORE DRILL SPIGOT - ROUND CODE DESCRIPTION
[T S FR3550 SP-5 Round Base Plate Spigot - 150mm '“: 16 3“ FR3500 SP-5 Round Core Drill Spigot - 240mm
FR3151 SP-5 Round Raised Cover Ring : ‘ FR3101 SP-5 Round Flat Cover Ring
FR3151 SP-5 Round Raised Cover Ring
e 0 e
R it 104 -------- -
g NV
( |22
.
--- 51 --om
P ™ . FR3101
/ \
/ / N \\\
o/ A LD 100 -------- ;
f . - Tt
\ | el
RN 4 /
\ - /
/
- 7/,/ FR3151 j’"" 50 ---'*j FR3151
BALUSTRADE BASE PLATED SPIGOT - SQUARE CODE DESCRIPTION BALUSTRADE CORE DRILL SPIGOT - SQUARE CODE DESCRIPTION
‘ ‘ FR3650 5P-2 Square Base Plate Spigot - 150mm e 16 - FR3600 SP-2 Square Core Drill Spigot - 240mm
oo 80 e - i ing - -
; ; FR3251 SP-2 Square Raised Cover Ring - Round o o - FR3201 SP-2 Square Flat Cover Ring - Round
. FR3252 SP-2 Square Raised Cover Ring - Square \ B .
B s ; FR3202 SP-2 Square Flat Cover Ring - Square
‘ FR3251 SP-2 Square Raised Cover Ring - Round
i laeee 5D e FR3252 SP-2 Square Raised Cover Ring - Square
100 1 ‘ ‘
o | ;
3 i
: 240
) |
(R 100 = -c-mmmn - FR3201 FR3202
| .t
i -$-1.5
0w = = — —
i '

e

FR3251 FR3252

m me 2205 STAINLESS STEEL BALUSTRADE SPIGOTS

contact: SaAles@oxworks.com.au

oxworks.com.au € 1300 336 237

DRAWINGS & ILLUSTRATIONS NOT TO SCALE



OXWORKS

STANDARDS

* AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006)
Glass Building Selection & Installation

¢ AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

ALl 2205 Stainless Steel
FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout
¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel
Coach Screw into structural timber
OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

* BG5000/BG5050 - 42.4mm Round
Stainless Steel Top Rail

* BG5100 - Glazing Rubber Channel

* BG5150 - 3 Hole Female Wall Brackets
25mm RND

¢ BG5200 - 42.4mm Flat End Cap

* BG5300 - 42.4mm 90° Angle Joiner

* BG5350 - 42.4mm Downward Adj Joiner
* BG5400 - 42.4mm Upward Adj Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG1-SYSTEM1
TYPICAL CONFIGURATIONS

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




OXWORKS

STANDARDS

* AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006)
Glass Building Selection & Installation

¢ AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

42.4MM FLAT END CAP WITH
GLAZING RUBBER CHANNEL

42.4MM 90° ANGLE JOINER

SPIGOTS & SUGGESTED FIXINGS

All 2205 Stainless Steel

FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
). Minimum 75mm x 100mm Core Drill Hole
i @ filled with MP60 Non-Shrink Bostik Grout

¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor

¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel
2 | | Coach Screw into structural timber
OR
= 4 x 75mm Stainless Steel Hex Head
| & ‘ Batten Screw into structural timber

HANDRAIL & FITTINGS

* BG5000/BG5050 - 42.4mm Round
Stainless Steel Top Rail

¢ BG5100 - Glazing Rubber Channel

* BG5150 - 3 Hole Female Wall Brackets
25mm RND

¢ BG5200 - 42.4mm Flat End Cap

* BG5300 - 42.4mm 90° Angle Joiner

* BG5350 - 42.4mm Downward Adj Joiner
* BG5400 - 42.4mm Upward Adj Joiner

(

4l

TITLE: FRAMELESS GLASS BALUSTRADE
FG1-SYSTEM1

UNASSEMBLED CONFIGURATION

conTACT: sales@oxworks.com.au

SPIGOT DETAIL oxworks.com.au @ 1300 336 237




) 4"'(+) 3«8 SPECIFICATION SHEETS

FG1-SYSTEM 2
FRAMELESS GLASS
BALUSTRADE




BG6200
25MM ROUND FLAT END CAP
316 POLISHED STAINLESS STEEL

\

Min. 1000mm

END ELEVATION

[6) N Se—

970 Glass Height

BG6000
25MM ROUND TOP RAIL

316 POLISHED STAINLESS STEEL ‘\

MAX 125MM

* BALUSTRADE
MAXIMUM SPAN < 1600MM

TOUGHENED SAFETY GLASS

FULLY AS/NZ-2208 CERTIFIED

BG6150
1 HOLE FEMALE WALL BRACKET

316 POLISHED STAINLESS STEEL \

12MM HEAT SOAKED

970MM HIGH

!

2205 STAINLESS STEEL
SPIGOT + COVER PLATE
FRONT ELEVATION

OXWORKS

STANDARDS

e AS2208 - Heat Soaked & Toughened Glass

» AS1288 (2006)
Glass Building Selection & Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

All 2205 Stainless Steel

FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQAR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout

¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel Coach Screw

FLANGED
SPIGOT DETAIL

SILICON WET GLAZED
25MM ROUND TOP RAIL

FR3550/FR3650 FR3500/FR3600
FLANGED FIXING / CORE DRILLED
DETAILS DETAILS

REFER TO NOTES REFER TO NOTES

CORE DRILL SPIGOT DETAIL

BG6200
25MM ROUND FLAT END CAP
316 POLISHED STAINLESS STEEL

s IS

TOP RAIL
END DETAIL

OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

* BG6000/BG6050 - 25mm Round Stainless
Steel Top Rail

* BG6150 - 1 Hole Female Wall Brackets
25mm RND

* BG6200 - 25mm Round Flat End Cap

¢ BG6300 - 25mm Round 90° Angle Joiner
¢ BG6350 - 25mm Round Adj Inline Joiner
* BG6400 - 25mm Round Adj Raked Joiner

TIMLE: FRAMELESS GLASS BALUSTRADE
FG 1-SYSTEM 2
TYPICAL CONFIGURATIONS

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




FR3151 FR3252

BALUSTRADE BASE PLATED SPIGOT - ROUND CODE DESCRIPTION BALUSTRADE CORE DRILL SPIGOT - ROUND CODE DESCRIPTION
[T S FR3550 SP-5 Round Base Plate Spigot - 150mm '“: 16 3“ FR3500 SP-5 Round Core Drill Spigot - 240mm
FR3151 SP-5 Round Raised Cover Ring : ‘ FR3101 SP-5 Round Flat Cover Ring
FR3151 SP-5 Round Raised Cover Ring
e 0 e
R it 104 -------- -
g NV
( |22
.
--- 51 --om
P ™ . FR3101
/ \
/ / TN \\\
o/ A LD 100 -------- ;
f . - Tt
\ | el
RN 4 /
\ - /
/
- 7/,/ FR3151 j’"" 50 ""‘j FR3151
BALUSTRADE BASE PLATED SPIGOT - SQUARE CODE DESCRIPTION BALUSTRADE CORE DRILL SPIGOT - SQUARE CODE DESCRIPTION
‘ ‘ FR3650 5P-2 Square Base Plate Spigot - 150mm e 16 - FR3600 SP-2 Square Core Drill Spigot - 240mm
oo 80 e - i ing - -
; ; FR3251 SP-2 Square Raised Cover Ring - Round o o - FR3201 SP-2 Square Flat Cover Ring - Round
. FR3252 SP-2 Square Raised Cover Ring - Square \ B .
B s ; FR3202 SP-2 Square Flat Cover Ring - Square
‘ FR3251 SP-2 Square Raised Cover Ring - Round
i e 5D e FR3252 SP-2 Square Raised Cover Ring - Square
100 l ‘ ‘
o | ;
3 i
: 240
) |
(R 100 =-c-mmmn - FR3201 FR3202
| .t
i -$-1.5
0w = = — —
i '

e

FR3251 FR3252

m me 2205 STAINLESS STEEL BALUSTRADE SPIGOTS

contact: SaAles@oxworks.com.au

oxworks.com.au € 1300 336 237

DRAWINGS & ILLUSTRATIONS NOT TO SCALE



C

{

OXWORKS

STANDARDS

* AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006)
Glass Building Selection & Installation

¢ AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

ALl 2205 Stainless Steel
FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout
* Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel Coach Screw
OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

* BG6000/BG6050 - 25mm Round Stainless
Steel Top Rail

* BG6150 - 1 Hole Female Wall Brackets
25mm RND

* BG6200 - 25mm Round Flat End Cap

¢ BG6300 - 25mm Round 90° Angle Joiner
* BG6350 - 25mm Round Adj Inline Joiner
* BG6400 - 25mm Round Adj Raked Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 1-SYSTEM 2

TYPICAL CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




25MM ROUND FLAT END CAP

SPIGOT DETAIL

AW}

78

25MM 90° ANGLE JOINER

OXWORKS

STANDARDS

* AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006)
Glass Building Selection & Installation

¢ AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

ALl 2205 Stainless Steel
FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout
¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel Coach Screw
OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

* BG6000/BG6050 - 25mm Round Stainless
Steel Top Rail

* BG6150 - 1 Hole Female Wall Brackets
25mm RND

¢ BG6200 - 25mm Round Flat End Cap

¢ BG6300 - 25mm Round 90° Angle Joiner
¢ BG6350 - 25mm Round Adj Inline Joiner
* BG6400 - 25mm Round Adj Raked Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 1-SYSTEM 2

UNASSEMBLED CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




) 4"'(+) 3«8 SPECIFICATION SHEETS

FG1-SYSTEM 3
FRAMELESS GLASS
BALUSTRADE




BG7200

25 X 21MM FLAT END CAP
316 POLISHED STAINLESS STEEL

\

0

Min. 1000mm

END ELEVATION

970 Glass Height

BG7000
25 X 21MM TOP RAIL

MAX 125MM

316 POLISHED STAINLESS STEEL ‘\

* BALUSTRADE
MAXIMUM SPAN < 1600MM

2205 STAINLESS STEEL
SPIGOT + COVER PLATE

12MM HEAT SOAKED
TOUGHENED SAFETY GLASS

FULLY AS/NZ-2208 CERTIFIED

BG7150
1 HOLE FEMALE WALL BRACKET

316 POLISHED STAINLESS STEEL \

970MM HIGH

!

FRONT ELEVATION

OXWORKS

STANDARDS

e AS2208 - Heat Soaked & Toughened Glass

» AS1288 (2006)
Glass Building Selection & Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

All 2205 Stainless Steel

FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQAR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout

¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel Coach Screw

FLANGED
SPIGOT DETAIL

FR3550/FR3650 FR3500/FR3600
FLANGED FIXING / CORE DRILLED
DETAILS DETAILS

REFER TO NOTES REFER TO NOTES

CORE DRILL SPIGOT DETAIL

SILICON WET GLAZED
SUITS 25x21MM TOP RAIL

— M

BG7200
25 X 21MM FLAT END CAP
316 POLISHED STAINLESS STEEL

I

TOP RAIL
END DETAIL

OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

* BG7000/BG7050
25 x 21mm Stainless Steel Top Rail

* BG7150
1 Hole Female Wall Brackets 25 x 21mm

¢ BG7200 - 25 x 21mm Flat End Cap
¢ BG7200 - 25 x 21mm Flat End Cap
¢ BG7300 - 25 x 21mm 90° Angle Joiner
¢ BG7350 - 25 x 21mm Adj Inline Joiner
¢ BG7400 - 25 x 21mm Adj Raked Joiner

TIMLE: FRAMELESS GLASS BALUSTRADE
FG1-SYSTEM 3
TYPICAL CONFIGURATIONS

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




FR3151 FR3252

BALUSTRADE BASE PLATED SPIGOT - ROUND CODE DESCRIPTION BALUSTRADE CORE DRILL SPIGOT - ROUND CODE DESCRIPTION
[T S FR3550 SP-5 Round Base Plate Spigot - 150mm '“: 16 3“ FR3500 SP-5 Round Core Drill Spigot - 240mm
FR3151 SP-5 Round Raised Cover Ring : ‘ FR3101 SP-5 Round Flat Cover Ring
FR3151 SP-5 Round Raised Cover Ring
e 0 e
R it 104 -------- -
g NV
( |22
.
--- 51 --om
P ™ . FR3101
/ \
/ / TN \\\
o/ A LD 100 -------- ;
f . - Tt
\ | el
RN 4 /
\ - /
/
- 7/,/ FR3151 j’"" 50 ""‘j FR3151
BALUSTRADE BASE PLATED SPIGOT - SQUARE CODE DESCRIPTION BALUSTRADE CORE DRILL SPIGOT - SQUARE CODE DESCRIPTION
‘ ‘ FR3650 5P-2 Square Base Plate Spigot - 150mm e 16 - FR3600 SP-2 Square Core Drill Spigot - 240mm
oo 80 e - i ing - -
; ; FR3251 SP-2 Square Raised Cover Ring - Round o o - FR3201 SP-2 Square Flat Cover Ring - Round
. FR3252 SP-2 Square Raised Cover Ring - Square \ B .
B s ; FR3202 SP-2 Square Flat Cover Ring - Square
‘ FR3251 SP-2 Square Raised Cover Ring - Round
i e 5D e FR3252 SP-2 Square Raised Cover Ring - Square
100 l ‘ ‘
o | ;
3 i
: 240
) |
(R 100 =-c-mmmn - FR3201 FR3202
| .t
i -$-1.5
0w = = — —
i '

e

FR3251 FR3252

m me 2205 STAINLESS STEEL BALUSTRADE SPIGOTS

contact: SaAles@oxworks.com.au

oxworks.com.au € 1300 336 237

DRAWINGS & ILLUSTRATIONS NOT TO SCALE



OXWORKS

STANDARDS

* AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006)
Glass Building Selection & Installation

¢ AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

ALl 2205 Stainless Steel
FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout
* Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel Coach Screw
OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

* BG7000/BG7050
25 x 21mm Stainless Steel Top Rail

* BG7150
1 Hole Female Wall Brackets 25 x 2Tmm

* BG7200 - 25 x 21mm Flat End Cap
¢ BG7200 - 25 x 21mm Flat End Cap
* BG7300 - 25 x 21Tmm 90° Angle Joiner
¢ BG7350 - 25 x 21mm Adj Inline Joiner
¢ BG7400 - 25 x 21mm Adj Raked Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG1-SYSTEM3
TYPICAL CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




25X 25MM SQUARE FLAT END CAP

N
VA

25X 25MM 90° ANGLE JOINER

SPIGOT DETAIL

OXWORKS

STANDARDS

* AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006)
Glass Building Selection & Installation

¢ AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

ALl 2205 Stainless Steel
FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout
* Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel Coach Screw
OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

* BG7000/BG7050
25 x 21mm Stainless Steel Top Rail

* BG7150
1 Hole Female Wall Brackets 25 x 2Tmm

* BG7200 - 25 x 21mm Flat End Cap
¢ BG7200 - 25 x 21mm Flat End Cap
* BG7300 - 25 x 21Tmm 90° Angle Joiner
¢ BG7350 - 25 x 21mm Adj Inline Joiner
¢ BG7400 - 25 x 21mm Adj Raked Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG1-SYSTEM3
UNASSEMBLED CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




) 4"'(+) 3«8 SPECIFICATION SHEETS

FG62 - SYSTEM 1
FRAMELESS GLASS
BALUSTRADE




AG2100 AG2000 AG2150 OXWORKS

STAND OFF BRACKET 50x10MM RECTANGULAR OFFSET HANDRAIL MAX 125MM 2 HOLE FEMALE WALL BRACKET
#16 POLISHED STAINLESS STEEL 316 POLISHED STAINLESS STEEL ‘\ 316 POLISHED STAINLESS STEEL STANDARDS

. ! * AS2208 - Heat Soaked & Toughened Glass
x » AS1288 (2006)

\ Glass Building Selection & Installation
* AS1170.1 - Structural Self Supporting

Balustrades - Dead & Live Combination
12MM HEAT SOAKED 4.7.1 Parapets, Balustrades & Railings
* BALUSTRADE TOUGHENED SAFETY GLASS GLASS PANELS

MAXIMUM SPAN < 1600MM 970MM HIGH
FULLY AS/NZ-2208 CERTIFIED

©
©Q
©

=i - o

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

Min. 1000mm

l SPIGOTS & SUGGESTED FIXINGS

ALl 2205 Stainless Steel

FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

970 Glass Height

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout

¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;

2205 STAINLESS STEEL Chemset Chemical Anchor
SPIGOT + COVER PLATE . .
¢ Flanged Spigot - On Timber
END ELEVATION FRONT ELEVATION M10 x 75mm Stainless Steel

Coach Screw into structural timber OR

I 4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

¢ AG2000/AG2050
AG2000 AG2100 50 x 10mm Stainless Steel Handrail
STAND OFF BRACKET
¢ AG2100/AG2110
i%l).(lglolgg1?1F6FSS'F;|:C§SDSR£':';EL 316 POLISHED 50 x 10mm Standoff Brackets Tapered/Flat
STAINLESS STEEL ¢ AG2150 - 2 Hole Wall Bracket 50 x 10mm

/7 ZE;SEODOQ:EEESO ¢ AG2200 - 50 x 10mm Flat End Cap
DETAILS e AG2250 - 50 x 1T0mm Inline Joiner

REFER TO NOTES ¢ AG2300 - 50 x 10mm 90° Angle Joiner
¢ AG2350 - 50 x 10mm Adj Inline Joiner
* AG2400 - 50 x 10mm Adj Raked Joiner

FR3550/FR3650
FLANGED FIXING
DETAILS

REFER TO NOTES

TIMLE: FRAMELESS GLASS BALUSTRADE
FG 2 - SYSTEM 1
TYPICAL CONFIGURATIONS

conTACT: sales@oxworks.com.au

FLANGED HAND RAIL
SPIGOT DETAIL CORE DRILL SPIGOT DETAIL END DETAIL oxworks.com.au © 1300 336 237




FR3151 FR3252

BALUSTRADE BASE PLATED SPIGOT - ROUND CODE DESCRIPTION BALUSTRADE CORE DRILL SPIGOT - ROUND CODE DESCRIPTION
[T S FR3550 SP-5 Round Base Plate Spigot - 150mm '“: 16 3“ FR3500 SP-5 Round Core Drill Spigot - 240mm
FR3151 SP-5 Round Raised Cover Ring : ‘ FR3101 SP-5 Round Flat Cover Ring
FR3151 SP-5 Round Raised Cover Ring
e 0 e
R it 104 -------- -
g NV
( |22
.
--- 51 --om
P ™ . FR3101
/ \
/ / TN \\\
o/ A LD 100 -------- ;
f . - Tt
\ | el
RN 4 /
\ - /
/
- 7/,/ FR3151 j’"" 50 ""‘j FR3151
BALUSTRADE BASE PLATED SPIGOT - SQUARE CODE DESCRIPTION BALUSTRADE CORE DRILL SPIGOT - SQUARE CODE DESCRIPTION
‘ ‘ FR3650 5P-2 Square Base Plate Spigot - 150mm e 16 - FR3600 SP-2 Square Core Drill Spigot - 240mm
oo 80 e - i ing - -
; ; FR3251 SP-2 Square Raised Cover Ring - Round o o - FR3201 SP-2 Square Flat Cover Ring - Round
. FR3252 SP-2 Square Raised Cover Ring - Square \ B .
B s ; FR3202 SP-2 Square Flat Cover Ring - Square
‘ FR3251 SP-2 Square Raised Cover Ring - Round
i e 5D e FR3252 SP-2 Square Raised Cover Ring - Square
100 l ‘ ‘
o | ;
3 i
: 240
) |
(R 100 =-c-mmmn - FR3201 FR3202
| .t
i -$-1.5
0w = = — —
i '

e

FR3251 FR3252

m me 2205 STAINLESS STEEL BALUSTRADE SPIGOTS

contact: SaAles@oxworks.com.au

oxworks.com.au € 1300 336 237

DRAWINGS & ILLUSTRATIONS NOT TO SCALE



OXWORKS

STANDARDS

* AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006)
Glass Building Selection & Installation

¢ AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

ALl 2205 Stainless Steel
FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout
¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel
Coach Screw into structural timber OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

¢ AG2000/AG2050
50 x 1T0mm Stainless Steel Handrail

* AG2100/AG2110
50 x 10mm Standoff Brackets Tapered/Flat

* AG2150 - 2 Hole Wall Bracket 50 x 10mm
e AG2200 - 50 x 1T0mm Flat End Cap

* AG2250 - 50 x 10mm Inline Joiner

¢ AG2300 - 50 x 10mm 90° Angle Joiner

e AG2350 - 50 x 1T0mm Adj Inline Joiner

* AG2400 - 50 x 10mm Adj Raked Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 2-SYSTEM 1

TYPICAL CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




50 X 10MM STANDOFF BRACKET- TAPERED
50 X 10MM STANDOFF BRACKET- FLAT

50 X 10MM 90° ANGLE JOINER

SPIGOT DETAIL

50 X 10MM FLAT END CAP

OXWORKS

STANDARDS

* AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006)
Glass Building Selection & Installation

¢ AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

ALl 2205 Stainless Steel

FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout
¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel
Coach Screw into structural timber OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

¢ AG2000/AG2050
50 x 10mm Stainless Steel Handrail

* AG2100/AG2110
50 x 10mm Standoff Brackets Tapered/Flat

* AG2150 - 2 Hole Wall Bracket 50 x 10mm
¢ AG2200 - 50 x 10mm Flat End Cap

* AG2250 - 50 x 10mm Inline Joiner

¢ AG2300 - 50 x 10mm 90° Angle Joiner

¢ AG2350 - 50 x 10mm Adj Inline Joiner

* AG2400 - 50 x 10mm Adj Raked Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 2-SYSTEM 1

UNASSEMBLED CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




) 4"'(+) 3«8 SPECIFICATION SHEETS

F62 - SYSTEM 2
FRAMELESS GLASS
BALUSTRADE




AG4000
AG4100 50MM ROUND OFFSET HANDRAIL 316 AGL150
CURVED SADDLE ADJ. OFFSET BRACKET POLISHED STAINLESS STEEL MAX 125MM

OXWORKS

316 POLISHED STAINLESS STEEL 3 HOLE FEMALE WALL BRACKET

316 POLISHED STAINLESS STEEL
K 165mm to hole centre

STANDARDS

o AS2208 - Heat Soaked & Toughened Glass
» AS1288 (2006)
Glass Building Selection & Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

r 2

L

150mm

12MM HEAT SOAKED
* BALUSTRADE TOUGHENED SAFETY GLASS

MAXIMUM SPAN < 1600MM 970MM HIGH
FULLY AS/NZ-2208 CERTIFIED

!

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

Min. 1000mm

SPIGOTS & SUGGESTED FIXINGS

970 Glass Height

ALl 2205 Stainless Steel

FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SAR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout
¢ Flanged Spigot - On Slab

2205 STAINLESS STEEL M10 Stainless S.teel Rod & Nut;
SPIGOT + COVER PLATE Chemset Chemical Anchor
END ELEVATION FRONT ELEVATION « Flanged Spigot - On Timber

M10 x 75mm Stainless Steel Coach Screw

into structural timber

AG4000 . OR

50MM ROUND OFFSET HANDRAIL léx 75msm Staipless Steel HTleebad
316 POLISHED STAINLESS STEEL atten Screw into structural timber

—

AG4100 HANDRAIL & FITTINGS
CURVED SADDLE ADJ. « AG4000/AG4050

OFFSET BRACKET 50mm Round Stainless Steel Handrail
316 POLISHED . AG4100

STAINLESS STEEL Curved Saddle Adj. Offset Brackets

* AG4150
3 Hole Female Wall Brackets 50 x 25mm

¢ AG4200 - 50mm Round Flat End Cap
* AG4250 - 50mm Round Inline Joiner
* AG4300 - 50mm Round 90° Angle Joiner

FR3550/FR3650
FLANGED FIXING
DETAILS

REFER TO NOTES

FR3500/FR3600
/ CORE DRILLED
DETAILS

REFER TO NOTES

TYPICAL CONFIGURATIONS
conTACT: sales@oxworks.com.au

FLANGED HAND RAIL

SPIGOT DETAIL CORE DRILL SPIGOT DETAIL END DETAIL

TITLE: FRAMELESS GLASS BALUSTRADE
FG 2 - SYSTEM 2
h oxworks.com.au © 1300 336 237




BALUSTRADE BASE PLATED SPIGOT - ROUND CODE DESCRIPTION BALUSTRADE CORE DRILL SPIGOT - ROUND CODE DESCRIPTION
[ — -= 16 '< FR3550 SP-5 Round Base Plate Spigot - 150mm '“: 16 3“ FR3500 SP-5Round Core Drill Spigot - 240mm
‘' FR3151 SP-5 Round Raised Cover Ring : ‘ FR3101 SP-5 Round Flat Cover Ring
/ \ ‘ /] \ ! FR3151 SP-5 Round Raised Cover Ring
® i i
100
i 150
@® . ! == 50 ---m
1 - E
! :
: | e 104 ====mmnn -
i - IS
i |22
3 3 | RS
G j e 1 e
P~ : ~_ - N o L FR3101
/ (D) \ / (@) \ // \
/ O s \ / 0 s \ / / ~ \
/ ™ | / \ / / \ \ | !
[ AR [ b | [ ( \ | ERREEEEEE 100 -------- -
| @ D “ “ @ D | ‘ { | | : , :%:1 4
\ / \ / \ \ / )
\ / \ / \\ \. / /
\\ s &// N\ Q // \ — /
\\ ) ) \ -, // AN - FR3151 FR3151
— T — D
BALUSTRADE BASE PLATED SPIGOT - SQUARE CODE DESCRIPTION BALUSTRADE CORE DRILL SPIGOT - SQUARE CODE DESCRIPTION
‘ ‘ ‘ FR3650  SP-2Square Base Plate Spigot - 150mm e 16 - FR3600 SP-2 Square Core Drill Spigot - 240mm
la--- 50 ---» eilin - ; ing - ' '
; ; FR3251 SP-2 Square Raised Cover Ring - Round o o o FR3201 SP-2 Square Flat Cover Ring - Round
i FR3252 SP-2 Square Raised Cover Ring - Square A \ B )
B s 1 ! FR3202 SP-2 Square Flat Cover Ring - Square
i s ‘ FR3251 SP-2 Square Raised Cover Ring - Round
‘ i e 5D e FR3252 SP-2 Square Raised Cover Ring - Square
3 100 100 1 ‘ ‘
150 ‘ L] |
| 3 R 3
3 ) 3
3 | 240
i s 1
100 |
S 100 <=-cmmen - FR3201 FR3202
; i :%:1.5
..v.. :
o = E ) —
A - FR3251 FR3252
FR3151 FR3252 === 50 ---m

m me 2205 STAINLESS STEEL BALUSTRADE SPIGOTS

contact: SaAles@oxworks.com.au

oxworks.com.au € 1300 336 237

DRAWINGS & ILLUSTRATIONS NOT TO SCALE



OXWORKS

STANDARDS

* AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006)
Glass Building Selection & Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

ALl 2205 Stainless Steel

FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQAR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout
¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel Coach Screw
into structural timber
OR

4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

¢ AG4000/AG4050
50mm Round Stainless Steel Handrail

¢ AG4100
Curved Saddle Adj. Offset Brackets

¢ AG4150
3 Hole Female Wall Brackets 50 x 25mm

¢ AG4200 - 50mm Round Flat End Cap
* AG4250 - 50mm Round Inline Joiner
¢ AG4300 - 50mm Round 90° Angle Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 2 - SYSTEM 2

TYPICAL CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




50MM STANDOFF BRACKET - CURVED SADDLE

- ~

50MM 90° ANGLE JOINER

SPIGOT DETAIL

50MM FLAT END CAP

OXWORKS

STANDARDS

e AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006)
Glass Building Selection & Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

ALl 2205 Stainless Steel

FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQAR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout
¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel Coach Screw
into structural timber
OR

4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

¢ AG4000/AG4050
50mm Round Stainless Steel Handrail

¢ AG4100
Curved Saddle Adj. Offset Brackets

¢ AG4150
3 Hole Female Wall Brackets 50 x 25mm

¢ AG4200 - 50mm Round Flat End Cap
* AG4250 - 50mm Round Inline Joiner
¢ AG4300 - 50mm Round 90° Angle Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 2 - SYSTEM 2

UNASSEMBLED CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




) 4"'(+) 3«8 SPECIFICATION SHEETS

F62 - SYSTEM 3
FRAMELESS GLASS
BALUSTRADE




AG5000
AG5100 50x25MM RECTANGULAR OFFSET HANDRAIL AG5150
FLAT SADDLE ADJ. OFFSET BRACKET 316 POLISHED STAINLESS STEEL MAX 125MM

OXWORKS

316 POLISHED STAINLESS STEEL 2 HOLE FEMALE WALL BRACKET

316 POLISHED STAINLESS STEEL
K 165mm to hole centre

STANDARDS

o AS2208 - Heat Soaked & Toughened Glass
» AS1288 (2006)
Glass Building Selection & Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

I 2

L

150mm

12MM HEAT SOAKED
* BALUSTRADE TOUGHENED SAFETY GLASS

MAXIMUM SPAN < 1600MM ‘ 970MM HIGH
FULLY AS/NZ-2208 CERTIFIED

!

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

Min. 1000mm
970 Glass Height

ALl 2205 Stainless Steel

FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

H—-- e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout
¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
2205 STAINLESS STEEL Chemset Chemical Anchor
SPIGOT + COVER PLATE « Flanged Spigot - On Timber
END ELEVATION FRONT ELEVATION M10 x 75mm Stainless Steel Coach Screw

into structural timber

e OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

AG5000
50x25MM RECTANGULAR OFFSET HANDRAIL

316 POLISHED STAINLESS STEEL AG5100 HANDRAIL & FITTINGS
FLAT SADDLE ADJ.

OFFSET BRACKET * AG5000/AG5050
316 POLISHED 50 x 25mm Stainless Steel Handrail

STAINLESS STEEL * AG5100
Flat Saddle Adjustable Offset Brackets

* AG5150
2 Hole Female Wall Brackets 50 x 25mm

¢ AG5200 - 50 x 25mm Flat End Cap

¢ AG5300 - 50 x 25mm 90° Angle Joiner
e AG5350 - 50 x 25mm Adj Inline Joiner
¢ AG5400 - 50 x 25mm Adj Raked Joiner

FR3550/FR3650
FLANGED FIXING
DETAILS

REFER TO NOTES

FR3500/FR3600
/ CORE DRILLED
DETAILS

REFER TO NOTES

TIMLE: FRAMELESS GLASS BALUSTRADE
FG 2 - SYSTEM 3
TYPICAL CONFIGURATIONS

conTACT: sales@oxworks.com.au

FLANGED HAND RAIL
SPIGOT DETAIL CORE DRILL SPIGOT DETAIL END DETAIL oxworks.com.au @ 1300 336 237




BALUSTRADE BASE PLATED SPIGOT - ROUND CODE DESCRIPTION BALUSTRADE CORE DRILL SPIGOT - ROUND CODE DESCRIPTION
[ — -= 16 '< FR3550 SP-5 Round Base Plate Spigot - 150mm '“: 16 3“ FR3500 SP-5Round Core Drill Spigot - 240mm
‘' FR3151 SP-5 Round Raised Cover Ring : ‘ FR3101 SP-5 Round Flat Cover Ring
/ \ ‘ /] \ ! FR3151 SP-5 Round Raised Cover Ring
® i i
100
i 150
@® . ! == 50 ---m
1 - E
! :
: | e 104 ====mmnn -
i - IS
i |22
3 3 | RS
G j e 1 e
P~ : ~_ - N o L FR3101
/ (D) \ / (@) \ // \
/ O s \ / 0 s \ / / ~ \
/ ™ | / \ / / \ \ | !
[ AR [ b | [ ( \ | ERREEEEEE 100 -------- -
| @ D “ “ @ D | ‘ { | | : , :%:1 4
\ / \ / \ \ / )
\ / \ / \\ \. / /
\\ s &// N\ Q // \ — /
\\ ) ) \ -, // AN - FR3151 FR3151
— T — D
BALUSTRADE BASE PLATED SPIGOT - SQUARE CODE DESCRIPTION BALUSTRADE CORE DRILL SPIGOT - SQUARE CODE DESCRIPTION
‘ ‘ ‘ FR3650  SP-2Square Base Plate Spigot - 150mm e 16 - FR3600 SP-2 Square Core Drill Spigot - 240mm
la--- 50 ---» eilin - ; ing - ' '
; ; FR3251 SP-2 Square Raised Cover Ring - Round o o o FR3201 SP-2 Square Flat Cover Ring - Round
i FR3252 SP-2 Square Raised Cover Ring - Square A \ B )
B s 1 ! FR3202 SP-2 Square Flat Cover Ring - Square
i s ‘ FR3251 SP-2 Square Raised Cover Ring - Round
‘ i e 5D e FR3252 SP-2 Square Raised Cover Ring - Square
3 100 100 1 ‘ ‘
150 ‘ L] |
| 3 R 3
3 ) 3
3 | 240
i s 1
100 |
S 100 <=-cmmen - FR3201 FR3202
; i :%:1.5
..v.. :
o = E ) —
A - FR3251 FR3252
FR3151 FR3252 === 50 ---m

m me 2205 STAINLESS STEEL BALUSTRADE SPIGOTS

contact: SaAles@oxworks.com.au

oxworks.com.au € 1300 336 237

DRAWINGS & ILLUSTRATIONS NOT TO SCALE



OXWORKS

STANDARDS

e AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006)
Glass Building Selection & Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

All 2205 Stainless Steel

FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout

¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel Coach Screw
into structural timber
OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

¢ AG5000/AG5050
50 x 25mm Stainless Steel Handrail

* AG5100
Flat Saddle Adjustable Offset Brackets

* AG5150
2 Hole Female Wall Brackets 50 x 25mm

¢ AG5200 - 50 x 25mm Flat End Cap

¢ AG5300 - 50 x 25mm 90° Angle Joiner
* AG5350 - 50 x 25mm Adj Inline Joiner
¢ AG5400 - 50 x 25mm Adj Raked Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 2-SYSTEM 3
TYPICAL CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




50 X 25MM 90° ANGLE JOINER

SPIGOT DETAIL

50 X 25MM FLAT END CAP

OXWORKS

STANDARDS

* AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006)
Glass Building Selection & Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners

SPIGOTS & SUGGESTED FIXINGS

All 2205 Stainless Steel

FR3550 - RND Base Plate Spigot - 150mm
FR3650 - SQR Base Plate Spigot - 150mm

FR3500 - RND Core Drill Spigot - 240mm
FR3600 - SQR Core Drill Spigot - 240mm

e Core Drilled Spigot
Minimum 75mm x 100mm Core Drill Hole
filled with MP60 Non-Shrink Bostik Grout

¢ Flanged Spigot - On Slab
M10 Stainless Steel Rod & Nut;
Chemset Chemical Anchor
¢ Flanged Spigot - On Timber
M10 x 75mm Stainless Steel Coach Screw
into structural timber
OR
4 x 75mm Stainless Steel Hex Head
Batten Screw into structural timber

HANDRAIL & FITTINGS

¢ AG5000/AG5050
50 x 25mm Stainless Steel Handrail

* AG5100
Flat Saddle Adjustable Offset Brackets

* AG5150
2 Hole Female Wall Brackets 50 x 25mm

¢ AG5200 - 50 x 25mm Flat End Cap

¢ AG5300 - 50 x 25mm 90° Angle Joiner
* AG5350 - 50 x 25mm Adj Inline Joiner
¢ AG5400 - 50 x 25mm Adj Raked Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 2-SYSTEM 3
UNASSEMBLED CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




) 4"'(+) 3«8 SPECIFICATION SHEETS

FG3 - SYSTEM 1
FRAMELESS GLASS
BALUSTRADE




OXWORKS
50x10MM RECTANGULAR OFFSET HANDRAIL MAX 125MM AG2150

STAND OFF BRACKET
316 POLISHED STAINLESS STEEL 316 POLISHED STAINLESS STEEL 2 HOLE FEMALE WALL BRACKET
100mm to hole centre 316 POLISHED STAINLESS STEEL STANDARDS

N ———— * AS2208 - Heat Soaked & Toughened Glass

* AS1288 (2006) - Glass Building Selection &

== - c c c Q: Installation
2 ¢ AS1170.1 - Structural Self Supporting
= 12MM HEAT SOAKED Balustrades - Dead & Live Combination

TOUGHENED SAFETY GLASS 4.7.1 Parapets, Balustrades & Railings

970MM HIGH GLASS PANELS
FULLY AS/NZ-2208 CERTIFIED

* BALUSTRADE SPANS 800MM TO 1500MM
(50MM INCREMENTS)

12mm Heat Soaked & Toughened
l Polished all Edges with Tipped Corners
Pre-Drilled 2 x 20mm Handrail Holes

Min. 1000mm
1230 Glass Height

STAND OFF BRACKETS & FIXING

BG8050 - 38mm OD x 50mm
BG8100 - 38mm OD x 30mm
BG8150 - 38mm OD x 20mm

BG8160 - 38mm 0D x 30mm Adjustable
BG8170 - 50mm OD x 30mm Adjustable

¢ Concrete Fixing -
M10 x 68/110mm S/Steel Lag Screw;
Chemical Anchor

ﬁ 7
o
Lo

BG8050/BG8100/BG8150/BG8160/BG8170 100
END ELEVATION 38/50MM STAND OFF PINS HANDRAIL & FITTINGS

e Timber Fixing
M10 x 110mm S/Steel Lag Screw into
Structural timber

100

316 POLISHED STAINLESS STEEL o
¢ AG2000/AG2050

50 x 10mm Stainless Steel Handrail
¢ AG2100/AG2110

50 x 10mm Standoff Brackets Tapered/Flat
AG2100 * AG2150 - 2 Hole Wall Bracket 50 x 10mm

AG2000 STAND OFF BRACKET * AG2200 - 50 x 10mm Flat End Cap

20X TOMM OFFSET HANDRAIL 316 POLISHED * AG2250 - 50 x 10mm Inline Joiner
STANDOFF PIN POLISHED 316 STAINLESS STEEL STAINLESS STEEL
DETAILS ¢ AG2300 - 50 x 1T0mm 90° Angle Joiner

REFER TO NOTES e AG2350 - 50 x 10mm Adj Inline Joiner
¢ AG2400 - 50 x 10mm Adj Raked Joiner

TIMLE: FRAMELESS GLASS BALUSTRADE
FG 3 -SYSTEM 1
TYPICAL CONFIGURATIONS

conTACT: sales@oxworks.com.au

HAND RAIL
END DETAIL oxworks.com.au @ 1300 336 237

STAND OFF BRACKET
FIXING DETAIL




OXWORKS

STANDARDS

e AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006) - Glass Building Selection &
Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners
Pre-Drilled 2 x 20mm Handrail Holes

STAND OFF BRACKETS & FIXING

BG8050 - 38mm OD x 50mm
BG8100 - 38mm OD x 30mm
BG8150 - 38mm OD x 20mm

BG8160 - 38mm 0D x 30mm Adjustable
BG8170 - 50mm OD x 30mm Adjustable

e Concrete Fixing -
M10 x 68/110mm S/Steel Lag Screw;
Chemical Anchor

e Timber Fixing
M10 x 110mm S/Steel Lag Screw into
Structural timber

HANDRAIL & FITTINGS

¢ AG2000/AG2050
50 x 10mm Stainless Steel Handrail

* AG2100/AG2110
50 x 10mm Standoff Brackets Tapered/Flat

* AG2150 - 2 Hole Wall Bracket 50 x 10mm
e AG2200 - 50 x 1T0mm Flat End Cap

* AG2250 - 50 x 10mm Inline Joiner

¢ AG2300 - 50 x 10mm 90° Angle Joiner

¢ AG2350 - 50 x 1T0mm Adj Inline Joiner

¢ AG2400 - 50 x 10mm Adj Raked Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 3 -SYSTEM 1

TYPICAL CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




OXWORKS

STANDARDS

: i | *AS2208 - Heat Soaked & Toughened Glass
| e AS1288 (2006) - Glass Building Selection &
Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

8 50 X 10MM FLAT END CAP

50 X 10MM STANDOFF BRACKET- TAPERED GLASS PANELS

& 50 X 10MM STANDOFF BRACKET- FLAT

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners
Pre-Drilled 2 x 20mm Handrail Holes

STAND OFF BRACKETS & FIXING

BG8050 - 38mm 0D x 50mm
1 BG8100 - 38mm 0D x 30mm
BG8150 - 38mm OD x 20mm

BG8160 - 38mm 0D x 30mm Adjustable
BG8170 - 50mm OD x 30mm Adjustable

e Concrete Fixing -
M10 x 68/110mm S/Steel Lag Screw;
Chemical Anchor

/29
29

e Timber Fixing
M10 x 110mm S/Steel Lag Screw into
Structural timber

29

HANDRAIL & FITTINGS

¢ AG2000/AG2050
50 x 10mm Stainless Steel Handrail

* AG2100/AG2110
50 x 10mm Standoff Brackets Tapered/Flat

* AG2150 - 2 Hole Wall Bracket 50 x 10mm
e AG2200 - 50 x 1T0mm Flat End Cap

* AG2250 - 50 x 10mm Inline Joiner

¢ AG2300 - 50 x 10mm 90° Angle Joiner

¢ AG2350 - 50 x 1T0mm Adj Inline Joiner

. ¢ AG2400 - 50 x 10mm Adj Raked Joiner

@ e .
0@ TITLE: FRAMELESS GLASS BALUSTRADE

FG 3 -SYSTEM 1
@ UNASSEMBLED CONFIGURATION

conTACT: sales@oxworks.com.au

38MM ROUND STAND OFF PINS

oxworks.com.au @ 1300 336 237
50 X 10MM 90° ANGLE JOINER




) 4"'(+) 3«8 SPECIFICATION SHEETS

FG3 - SYSTEM 2
FRAMELESS GLASS
BALUSTRADE




AG4000 -
AG4100 50MM ROUND OFFSET HANDRAIL 316 AGL150
§”R"§° EADDI;E o OSFSF §ET SrACKET POLISHED STAINLESS STEEL | | MAX125MM 3 HOLE FEMALE WALL BRACKET
16 POLISHED STAINLESS STEEL
316 POLISHED STAINLESS STEEL STANDARDS

e AS2208 - Heat Soaked & Toughened Glass
* AS1288 (2006) - Glass Building Selection &
Installation

¢ AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

K 100mm to hole centre

150 |

12MM HEAT SOAKED
TOUGHENED SAFETY GLASS
970MM HIGH
FULLY AS/NZ-2208 CERTIFIED

!

GLASS PANELS

* BALUSTRADE SPANS 800MM TO 1500MM
(50MM INCREMENTS)

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners
Pre-Drilled 2 x 20mm Handrail Holes

Min. 1000mm

STAND OFF BRACKETS & FIXING

1230 Glass Height

BG8050 - 38mm OD x 50mm
BG8100 - 38mm OD x 30mm
BG8150 - 38mm OD x 20mm

BG8160 - 38mm 0D x 30mm Adjustable
BG8170 - 50mm OD x 30mm Adjustable

¢ Concrete Fixing -
M10 x 68/110mm S/Steel Lag Screw;
Chemical Anchor

ﬁ - e Timber Fixing

3 M10 x 110mm S/Steel Lag Screw into
Structural timber
END ELEVATION BG8050/BG8100/BG8150/BG8160/BG8170

38/50MM STAND OFF PINS FRONT ELEVATION

HANDRAIL & FITTINGS

316 POLISHED STAINLESS STEEL
¢ AG4000/AG4050

ol 50mm Round Stainless Steel Handrail

* AG4100
Curved Saddle Adj. Offset Brackets
AG4100 « AG4150
/i CURVED SADDLE ADJ. 3 Hole Female Wall Brackets 50 x 25mm
OFFSET BRACKET
* AG4200 - 50 Round Flat End C
STANDOFF PIN 316 POLISHED mm Rkoun é n ' ap
DETAILS AG4000 STAINLESS STEEL e AG4250 - 50mm Round Inline Joiner
REFER TO NOTES 50MM ROUND ¢ AG4300 - 50mm Round 90° Angle Joiner
OFFSET HANDRAIL
316 POLISHED

STAINLESS STEEL

O]
TITLE: FRAMELESS GLASS BALUSTRADE
FG 3 - SYSTEM 2
TYPICAL CONFIGURATIONS
conTACT: sales@oxworks.com.au
HAND RAIL

STAND OFF BRACKET
FIXING DETAIL

END DETAIL h oxworks.com.au © 1300 336 237




OXWORKS

STANDARDS

e AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006) - Glass Building Selection &
Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners
Pre-Drilled 2 x 20mm Handrail Holes

STAND OFF BRACKETS & FIXING

BG8050 - 38mm OD x 50mm
BG8100 - 38mm OD x 30mm
BG8150 - 38mm OD x 20mm

BG8160 - 38mm 0D x 30mm Adjustable
BG8170 - 50mm OD x 30mm Adjustable

e Concrete Fixing -
M10 x 68/110mm S/Steel Lag Screw;
Chemical Anchor

e Timber Fixing
M10 x 110mm S/Steel Lag Screw into
Structural timber

HANDRAIL & FITTINGS

¢ AG4000/AG4050
50mm Round Stainless Steel Handrail

¢ AG4100
Curved Saddle Adj. Offset Brackets

¢ AG4150
3 Hole Female Wall Brackets 50 x 25mm

¢ AG4200 - 50mm Round Flat End Cap
* AG4250 - 50mm Round Inline Joiner
¢ AG4300 - 50mm Round 90° Angle Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 3 - SYSTEM 2
TYPICAL CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




29

29

50MM STANDOFF BRACKET - CURVED SADDLE

29
$9

29

50 X 10MM 90° ANGLE JOINER

O

50MM ROUND FLAT END CAP

&8

S

38MM ROUND STAND OFF PINS

OXWORKS

STANDARDS

e AS2208 - Heat Soaked & Toughened Glass

* AS1288 (2006) - Glass Building Selection &
Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners
Pre-Drilled 2 x 20mm Handrail Holes

STAND OFF BRACKETS & FIXING

BG8050 - 38mm OD x 50mm
BG8100 - 38mm OD x 30mm
BG8150 - 38mm OD x 20mm

BG8160 - 38mm 0D x 30mm Adjustable
BG8170 - 50mm OD x 30mm Adjustable

¢ Concrete Fixing -
M10 x 68/110mm S/Steel Lag Screw;
Chemical Anchor

e Timber Fixing
M10 x 110mm S/Steel Lag Screw into
Structural timber

HANDRAIL & FITTINGS

¢ AG4000/AG4050
50mm Round Stainless Steel Handrail

¢ AG4100
Curved Saddle Adj. Offset Brackets

¢ AG4150
3 Hole Female Wall Brackets 50 x 25mm

¢ AG4200 - 50mm Round Flat End Cap
* AG4250 - 50mm Round Inline Joiner
¢ AG4300 - 50mm Round 90° Angle Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 3 - SYSTEM 2
UNASSEMBLED CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




) 4"'(+) 3«8 SPECIFICATION SHEETS

F63 - SYSTEM 3
FRAMELESS GLASS
BALUSTRADE




AG5000 OX"AIOR K -
A651050 - . 50x25MM RECTANGULAR OFFSET HANDRAIL AG5150 s
FLAT SADDLE ADJ. OFFSET BRACKET 316 POLISHED STAINLESS STEEL MAX 125MM
316 POLISHED STAINLESS STEEL 2 HOLE FEMALE WALL BRACKET

100MM TO gHﬁ 316 POLISHED STAINLESS STEEL STANDARDS

e AS2208 - Heat Soaked & Toughened Glass
* AS1288 (2006) - Glass Building Selection &
Installation

¢ AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

Ty

K N . HOLE CENTRE

150

12MM HEAT SOAKED
TOUGHENED SAFETY GLASS
970MM HIGH
FULLY AS/NZ-2208 CERTIFIED

|

GLASS PANELS

* BALUSTRADE SPANS 800MM TO 1500MM
(50MM INCREMENTS)

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners
Pre-Drilled 2 x 20mm Handrail Holes

Min. 1000mm

STAND OFF BRACKETS & FIXING

1230 Glass Height

BG8050 - 38mm OD x 50mm
BG8100 - 38mm OD x 30mm
BG8150 - 38mm OD x 20mm

BG8160 - 38mm 0D x 30mm Adjustable
BG8170 - 50mm OD x 30mm Adjustable

¢ Concrete Fixing -
M10 x 68/110mm S/Steel Lag Screw;
Chemical Anchor

e Timber Fixing
M10 x 110mm S/Steel Lag Screw into
Structural timber

ﬁ 7
o
Lo

BG8050/BG8100/BG8150/BG8160/BG8170
END ELEVATION 38/50MM STAND OFF PINS FRONT ELEVATION HANDRAIL & FITTINGS

316 POLISHED STAINLESS STEEL
— ¢ AG5000/AG5050

50 x 25mm Stainless Steel Handrail
* AG5100
Flat Saddle Adjustable Offset Brackets
AG5100 . AG5150
FLAT SADDLE ADJ. 2 Hole Female Wall Brackets 50 x 25mm
OFFSET ERACKET AG5200 - 50 x 25 Flat End C
STANDOFF PIN 316 POLISHED : -0 zomm Flat End Cap
DETAILS l/v STAINLESS STEEL * AG5300 - 50 x 25mm 90° Angle Joiner
REFER TO NOTES AG5000 « AG5350 - 50 x 25mm Adj Inline Joiner
g?:ﬁ&ﬁ:fﬁg:ﬂf_m « AG5400 - 50 x 25mm Adj Raked Joiner
316 POLISHED
STAINLESS STEEL
TTLE: FRAMELESS GLASS BALUSTRADE
FG 3 - SYSTEM 3
TYPICAL CONFIGURATIONS
conTACT: sales@oxworks.com.au
STAND OFF BRACKET HAND RAIL
FIXING DETAIL END DETAIL oxworks.com.au @ 1300 336 237




OXWORKS

STANDARDS

e AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006) - Glass Building Selection &
Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners
Pre-Drilled 2 x 20mm Handrail Holes

STAND OFF BRACKETS & FIXING

BG8050 - 38mm OD x 50mm
BG8100 - 38mm OD x 30mm
BG8150 - 38mm OD x 20mm

BG8160 - 38mm 0D x 30mm Adjustable
BG8170 - 50mm OD x 30mm Adjustable

e Concrete Fixing -
M10 x 68/110mm S/Steel Lag Screw;
Chemical Anchor

e Timber Fixing
M10 x 110mm S/Steel Lag Screw into
Structural timber

HANDRAIL & FITTINGS

¢ AG5000/AG5050
50 x 25mm Stainless Steel Handrail

* AG5100
Flat Saddle Adjustable Offset Brackets

* AG5150
2 Hole Female Wall Brackets 50 x 25mm

¢ AG5200 - 50 x 25mm Flat End Cap

e AG5300 - 50 x 25mm 90° Angle Joiner
* AG5350 - 50 x 25mm Adj Inline Joiner
* AG5400 - 50 x 25mm Adj Raked Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 3 -SYSTEM 3
TYPICAL CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




50 X 25MM STANDOFF BRACKET - FLAT SADDLE

50 X 10MM 90° ANGLE JOINER

)

)

8

50 X 25MM FLAT END CAP

38MM ROUND STAND OFF PINS

OXWORKS

STANDARDS

e AS2208 - Heat Soaked & Toughened Glass

¢ AS1288 (2006) - Glass Building Selection &
Installation

* AS1170.1 - Structural Self Supporting
Balustrades - Dead & Live Combination
4.7.1 Parapets, Balustrades & Railings

GLASS PANELS

12mm Heat Soaked & Toughened
Polished all Edges with Tipped Corners
Pre-Drilled 2 x 20mm Handrail Holes

STAND OFF BRACKETS & FIXING

BG8050 - 38mm OD x 50mm
BG8100 - 38mm OD x 30mm
BG8150 - 38mm OD x 20mm

BG8160 - 38mm 0D x 30mm Adjustable
BG8170 - 50mm OD x 30mm Adjustable

e Concrete Fixing -
M10 x 68/110mm S/Steel Lag Screw;
Chemical Anchor

e Timber Fixing
M10 x 110mm S/Steel Lag Screw into
Structural timber

HANDRAIL & FITTINGS

¢ AG5000/AG5050
50 x 25mm Stainless Steel Handrail

* AG5100
Flat Saddle Adjustable Offset Brackets

* AG5150
2 Hole Female Wall Brackets 50 x 25mm

¢ AG5200 - 50 x 25mm Flat End Cap

e AG5300 - 50 x 25mm 90° Angle Joiner
* AG5350 - 50 x 25mm Adj Inline Joiner
* AG5400 - 50 x 25mm Adj Raked Joiner

TITLE: FRAMELESS GLASS BALUSTRADE
FG 3 -SYSTEM 3
UNASSEMBLED CONFIGURATION

conTACT: sales@oxworks.com.au

oxworks.com.au @ 1300 336 237




